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I reassessing identity of anonymous author of our niwn
a onassumption (above) that author is YRynw’ "1 — and Mm»1aw = mon, what mon are there for nyn mrn?
i answer: cutting off N3, as per RYOR *7's interpretation of 1NWN=I1RY (NY7x Y1 INWVN)
b however: what man could there be for nawn mr®? it is a 77an NINIRYINNIY IRY — no MIN
i answer: that's why we established Yxynw» 7 as the author — he holds that v5y P17 772n nIIRS N7V IR
1 question: if not, how could we have assigned it to »"? his position on nrmwN MY is at odds with mwn
2 answer: just as we shifted to man for ", we could do the same for ™ (re: nknON MY7T)
(a) however: that implies a case of 7't — how can we assign 71 to nrmv WHYN?
(b) and: the niwn rules that in such a case, he must bring 77911 n%1» — no mention of man
¢ rather: author is ’27, who accepts »™ re: m»aw and YRynw’ "1’s position re: nRMLN MY*P
i w~ "1 reported this to 5™, who explained that »a7 himself holds that nrkmon my*1 apply to all four
1 asper 8n7»7x3 regarding vv. 1-2
(a) »”rtwo mentions of nYy) set up parameters — awareness beforehand and afterwards
(b) 37 awareness afterwards subsumed under YT ®11) — second mention extends to D*WTPY WIPN DOYN
(i) explanation (X37): since it says nn%y3, means he originally knew
(ii) challenge (»28): that meaning cannot be applied to v. 6, per v. 7; nor to v. 8, per v. 9
1. rather (»3x): 17 holds that knowledge — at any point in life — is called knowledge
a. challenge (979): if so, how is there ever a case of n»nna ny' na Pr?
b.  answer: D"3YN P2Y NAVIV P1N
2 question: does »11 also accept the position of ™ re: m»aw or is he just presenting »™ position?
(a) answer: y™'s position is premised on the use of VI¥M M1 (contra VIO H93) — 121 also uses it, as per:
(i) 27 DR M22 may be n791 with anything except 70w (v. 3 — a1 VIYM "17 - only W excluded)
(ii) 237 use VIM 993 and exclude W and D TAY/YPIP
(b) challenge (82237): 2171 uses V19 Y93 in defining yx¥n (v. 4)
(i) contra: nT 92 'O 1 who has broader interpretation of y¥n by using v1a 553
(if) answer: usually, »a7 employs V191 Y93
1. but: in our case, he uses VIYM M11 as per 211N, who rules that the same word (e.g. n'n3, v. 5)
cannot be used as “sandwich” 0’55 - n1an is used twice, he applies V1Y M17
2. pa7. apply different rule — when you find 2 0’955 next to each other, “put” v1a between them
(iii) observation: since a7 generally uses V191 573, MMaw is a difficult position for him
1. rather: re: M2, he presents »™7’s position but doesn’t accept it himself
IT  Analysis of next clause — 178 17w DnNWY nawn Mroy’ —and why X:X naw has 2->4 inside and 2->4 outisde
a  answer: where naw is the main subject, we have m1om may; here, it is not, so we have only man
i challenge: mar are myx — there are only 2 of them (*”n1 = 9”17 and the inverse)
b 977innav, we are taught DMV, wavN; here, only v>avn (full carrying)
i challenge: there are only 2 mxoy’ that are avn% (1 bringing out, 2”nya pushing out)
ii  answer: Ran refers to “brining in” as k¥ as well
1 proof: wording in 2:1 naw — mwi5> mwin R (implies either direction)
2 additional proof: R:R naw uses MR¥ yet the 1t example is 101N (2”7Ya 5V 1T TINY 1NN D218Y 1T NR 2PN VVA)
¢ A7 meaning of onw is M1 (that lead to 4 circumstances of liability)
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